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31
. 6,40€ -139,90€ = 46,30€

Pw=Gw
100

pw =46,3ft 46,30€ - 1,389€ -44,911€10-
Pw-1,38cg

Antwort : Sie bekommt 139€ Rabatt
,
also muss sie

nurnoch 44,91€ bezahlen
.

32
.

Gu-PwpjYGw--7@119YoGw--640E33.Gw
-152,621002%

Gw= 7630€
-

34
. a) p RY

Gw

11% =334€4495€



P%= 67,4T %
-

b) pw=Geil
100

Pw=4957-9-0%100
Pw = 445,50€
-

C) p%=RI
Gw

P% -334€00
445,50€

P%= 74,972 %

100%-74,972 % = 25,028%

-35
. a) pro=Ken

Gw

Pre= 1420-100
2466

P%= 57,583%
-



b) CDU : pw=Gui
100

Pw=23.398%100
Pw= 9,154

SPD : pw=23-12,6%100
Pw = 2,898

FDP : pw= 23-8%100
Pw = 1,84

FW : pw=23.371%100
Pw = 8, 694

Sonstige: pw=23-18%100
Pw= 0,414



c) p Re
Gw

P% -258.1002466
P% - 10,4623%

P%ee-258.cn
1420

P%= 18169 %

10,4623% aller Wahlberechtigten wählten per Briefwahl,
das sind 18,169% aller Wähler.


